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8. Leeanne plans to sell her car and places an x-line ad. The newspap!

o. Alocal Pennysaver paper charges fdollars for a five

v i oy = 2250
10. Graph the piecewise function: fix) —{2250 1+5.75(x- 6) whenx> 6

11. Mr.Ciangiola placed this ad in the Colfector Car Digest:

12. Express the classified ad f:

Date

er charges p dollars for

the first k lines and e dollars per extra line, to run the ad for a week.
a. Whenx>k, write an algebraic expression for the cost of running the ad for a week. 6

b. When x < k, write an algebraic expression for the cost of running the ad for two weeks.

_jine classified ad. Each additional line

costs a dollars. Express the cost of an eight-line ad algebraically.

22. whenx<6

What are the coordinates of the cusp? What is the slope of the graph where x > 67 What is
the slope of the graph wherex < 67

2007 Chevrolet HHR SUV. Orange, 4 cyl.
automatic, leather, chrome wheels, wood
trim, unning boards, PS, PB, AM/EM/CD.
Mint! $18,500. 555-7331.

a. If the newspaper charges $45 for the first four lines and $7 for each extra line, how much (

will this ad cost?

b. Sue buys the car for 5% less than the advertised price. How much does she pay? |

¢. Sue must pay her state 4% sales taxon the sale. How much must she pay in sales tax?

ate, $36 for the first four lines and $4.25 for each additional line, as
a piecewise function. Use a | et” statement to identify whatx and y represent. "

13. The following piecewise function represents the cost of an x-line classified ad from the

Rhinebeck Register.
_|D when x W :
fx) {D +K(x - w) when x> w N

a. What is the cost of ap-linead, ifp< wl

b. What is the cost of ab-linead,if b > w?

¢. Findthe total cost, with 6% sales tax, of a w-line ad.

i) i1 ~ © 2011 Gengage Learning. All Rights Reserved. Ma ot be scanned, copied
Financial Algebra Workbook 51 et b1 posod 8 I ccessi webst,in wholo o 1 part.
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9. Given is the list of prices for a set of used original hubcaps for a 1957 Chevrolet. They vary
depending on the condition. Find the following statistics for the hubcap prices.
$120 $50 $320 $220 $310  $100 $260 $300 $155 $125
$600 $250 $200 $200 $125

a. mean, to the nearest dollar b. median
¢. mode d. four quartiles
e. range f. interquartile range .

g. boundary for the lower outliers; any lower outliers

h. boundary for the upper outliers; any upper outliers

10. The data below gives the MPG ratings for cars owned by 15 Placid High School seniors. Find
the following statistics about the MPG ratings.

15.9, 17.8, 216, 25.2, 31.1, 29, 286, 32, 34, 14, 198, 19.5, 20.1, 277, 25.5

a. mean b. median

c. median of the lowest seven scores d. lower quartile, Q,

e. median of the highest seven scores f. upper quartile, Q,

g. interquartile range h. ﬂn;ange

i. boundary for the upper outliers j. boundary for the lower outliers

k. How many outliersare in this data set?

11. The following scores aré written in ascending order: a,b,c.de f g h,and .
a. What measure of central tendency does score e represent?

2 sbrctdterft +h+i
b. What measure of central tendency is represented by 9—,4’—;———9’ —7

¢. Which quartileis represented by b’;—c?

ant dile sl B © 2011 Cengage Learning. Al Rights Reserved. Ma) 1ot be scanned, copied
or duplicated, 0T postedtoa publicly accessible website, in whols ot in part.
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4. Used the modified boxplot to determine if Statements a - g are True or False.
When the statement is false, explain. 6
Xy r k
zw u

a. Therangeisr—y. b. 25% of the scores are at or below y.

¢. Theinterquartile range is u —Z. d. The medianisw.

e. The boundary for upper outliers is r. £ The boundary for lower outfiers is y.

5. The back-to-back stem-and-leaf plot gives data about girls on
i the left and boys on the right. It shows the number of girls.and
boys at each high school in Greene County who purchased
their own cars with money they earned working.

a. How many high schools are in Greene County?

b. What is the mean number of girls who bought their own cars?

. What is the mean number of boys who bought their own cars? (
Il d. Find the median of the distribution of girls.

e. Find the range of the distribution of boys.

P

|

| ‘1 6. The side-by-side boxplots for distributions A andB
; were drawn on the same axes.

: a. Which distribution has the greater range?

I b. Which distribution has the lower first quartile?

¢. Which distribution has the smallest interquartile range?

! d. What percent of the scores in distribution A is above distribution B's maximum score?
. Which distribution has scores that are the most varied?

£. What percent of scores in distribution A are less than distribution B's first quartile?
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